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解决问题   整理与复习

姓名：

【第一关    】

[image: image1.jpg]kAol (=)

6. 40-3= 39+8= 70 - 5=
37 -20= 84-7= 6+73=
68 - 6= 52 - 8= 44 -9=
35+20 = 6+54= 37 -8=
71 75 56 43 84
-22 -38 -13 - 65
75 56 43 84
- 27 - 34 -16 - 60

8. LIl LM 69 A 20T 40, AHS.
8 2 9 8 6 4 7
-4 5 -5 3 -18 -3

C f e

27 (50%) [3a%)
(1)@ e F* 5 rao
()8 @ a3y

R AT 2 P

0
6

2

928 50




买一辆[image: image2.jpg]kAol (=)

6. 40-3= 39+8= 70 - 5=
37 -20= 84-7= 6+73=
68 - 6= 52 - 8= 44 -9=
35+20 = 6+54= 37 -8=
71 75 56 43 84
-22 -38 -13 - 65
75 56 43 84
- 27 - 34 -16 - 60

8. LIl LM 69 A 20T 40, AHS.
8 2 9 8 6 4 7
-4 5 -5 3 -18 -3

C f e

27 (50%) [3a%)
(1)@ e F* 5 rao
()8 @ a3y

R AT 2 P

0
6

2

928 50



和[image: image3.jpg]kAol (=)

6. 40-3= 39+8= 70 - 5=
37 -20= 84-7= 6+73=
68 - 6= 52 - 8= 44 -9=
35+20 = 6+54= 37 -8=
71 75 56 43 84
-22 -38 -13 - 65
75 56 43 84
- 27 - 34 -16 - 60

8. LIl LM 69 A 20T 40, AHS.
8 2 9 8 6 4 7
-4 5 -5 3 -18 -3

C f e

27 (50%) [3a%)
(1)@ e F* 5 rao
()8 @ a3y

R AT 2 P

0
6

2

928 50



需要多少钱？

                               =     （元）                          
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 贵多少元？
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【第二关          】
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【第三关           】

 小丽折飞机，第一天折了10个， 以后每天都比前一天多折10个，

3天一共做（      ）个。 

   这一关我得到（        ）
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我写了20个字
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